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TESTS 17

Test 9

Efstratios Grivas — Petar Velikov
Plovdiv 1988

1ed 523563 e5d5 4 d4 cxd4 5Df3d6 6 cxd4 e67 a3 £d7 8 £d3 £¢69 0-0 Dd7 10 Zel
£e711bd2 dxe5 12 dxe5 De5 13 2.£1 5414 Ee3 0-0 15 We2 Ec8 16 b4 £a4 17 Wbl Hd7 18
Weq Nd5 19 Hel £.¢2 20 Wed 21521 Wg3 a5 22 bxas Ncs5 23 DNd4 286 24 Ded Ded 25 Wh3
£.¢526 2b2 Hde3 27 £.xe3 Dxe3 28 D2 Ded 29 9)2e3 Wha 30 g3 We7 31 g2 He7 32 Eadl
h5 33 \d6 Dxf2 34 Lxf2 £.c2 35 We3 £xd1 36 Exd1 £6 37 Le2 fxes 38 Ded 2.d4 39 Whg Wd7
40 ¥h3 We7 41 h4 g6 42 2h3 Zc6 43 Ef1 £.xe3 44 Exf8+ Lxf8 45 Lxe3 g7 46 Wh4 We7 (D)
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Judgement: White has the advantage, as he has two (good) minor pieces against a (quite pas-
sive) rook. Unfortunately for Black, his extra pawn is of no importance, as it is isolated, weak and
blockaded. Moreover, Black’s e-pawns are more like weaknesses, as are his b- and g-pawns. Some
attention must be paid to the white king’s position, as its central presence offers Black some
chances for counterplay.

Planning: Choose one of the following three plans:

A: I should attack the e-pawns, starting with the one on e5. This can be done by manoeuvring
my minor pieces (by £f1 and £)d2-c4) towards that target and also involving my queen via b5 or
c3. Black will not be able to defend this weakness, which will eventually drop. Then I would go af-
ter the e6-pawn.

B: I should exchange my a5-pawn for Black’s on b7. Then my a3-pawn will become passed,
giving me an easy win. I can do that by playing 2f1-b5 and then a6. After the pawn exchange I
shall play £d3 and advance my a-pawn.

C: Iam sure that I would like to exchange queens at a favourable moment and then proceed with
all my forces against the opponent’s b-pawn. But Black would never accept this trade, so I must
force it by attacking the black king. By manoeuvring my pieces against the black g6-pawn (g5,
£f1-d3 and We4) I would be able either to exchange queens and easily win the endgame or deliver
checkmate.



90 MODERN CHESS PLANNING

A blunder in time-trouble. 29 g4 {3 30 g5
B1f8 31 HExe6 Hxe6 32 Wxe6 Wxg5 33 Hgl
Wf4 34 Wh3 was essential.

29...Eh6! 30 We3

30 We2 Wxd4 31 HEgl £xf4 —+.

30...5%£6! 0-1

Test 9
Exchanging queens will allow White to include
his king in the proceedings. However, Black
will not readily agree to that, so White has to
force him. Plan A (3 points) doesn’t do much,
as Black can defend with ...Ec5 and/or some-
times obtain counterplay with ...e4. Plan B (8
points) also looks excellent, but Black might
get some counterplay after 47 2f1 Ecl 48 £b5
Egl. The correct plan is C (20 points).

The game continued:

47 &Hgs! Wd7 (D)

Or 47...Ec3+ 48 ©d2 Ec2+ 49 &d3 ed+ 50
DNxed.
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48 Hxe6+ Exe6 49 Lxe6 Wxe6 50 Wxb7+
&h6 51 a6 was also winning, but during the
game White was wrongly afraid of the possibil-
ity of perpetual check after 51...%Wg4.

48...Ec7

This looks like the only try, as 48...Ec1 49
£b5 Wc8 50 We7+ leads to mate.

49 £d3 Wc6 50 ad

The immediate 50 We4 was possible, but
White retains winning chances even in the end-
game, in case something goes wrong with his
attack.

50...2d7 51 Wed Wel+

The endgame after 51...Wxed+ 52 &xed &f7
53 a6 bxab 54 £xa6 a7 55 £b5 and Hd2-c4
would be a slow death.

52 &e2 Wh2+ 53 &f3 We3 54 @Xg6+ &f8
55 WE6+! 28 56 Wxe6+ 2d8 (D)

Or 56...Be7 57 %’g8+ Dd7 58 Wd5+ e 59
DNed.
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57 Wg8+ Lc7

Or the beautiful 57...%e7 58 Wf7+ &d8 (if
58...&d6, then 59 Ded+) 59 De6b+ Lc8 60
Wes+ Ed8 61 Wxd8#.

58 Wed+ 1-0
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Test 10

In such difficult positions there cannot be more
than one satisfactory plan. Plan B (0 points) is
the worst of all, as after 38 Ebd1 Ead8 39 £He3
He6! Black would get at the white f6-pawn.
Plan A (5 points) is also not optimal, as after 38
xf4 gxf4 39 h4 Black can assume the initia-
tive with 39...d5! 40 exd5 (40 Ebel dxe4 41
£xed Lxed+ 42 Exed Weo!) 40...e4. Although
things are far from clear, I still prefer Black.
Plan C (20 points) is correct.

The game continued:

38 h4! d5!

As the lines 38...xg2 39 £xg2 gxh4 40
Whe Hg8 41 Ef5 g6 42 Wxh4 and 38...h6? 39
hxg5 hxg5 40 Dxf4 gxf4 41 Wh2+ seem pleas-
ant for White, Black tries to mix things up.

39 exd5 e4 40 hxg5?

White should try 40 £.d1 e3! 41 &xe3 Exe3
42 Wxe3 HHxd5 43 W2 Hxc3+ 44 L3 &Hxbl
45 Exbl gxh4 46 Eel, when he ought to hold
the position.

40...Dg6?

40...exf3? 41 &xf4 and 40...Dxg2? 41 £xg2
are out of the question, but Black can grab the
advantage with 40...20xd5! 41 £e2 e3 42 Wd4
(42 Wel O)f4 43 ££3 €2 F) 42...Ead8.

41 Le2 e3 42 Wa4! Zad8 43 Ef5!





